


01.

02.

o
—(Heat Pump)

X2 5718, X €, HE, H=+E, di+8 S H22 SAS7IE, XIE,
i) ofM FH22 ES 4010 L2 +EH(HEUS7| E= 2)

= ME7 of == AEM 25%sHE 7)) HX| 2 TS5+ F 75% 8

S|S0 FEL2 XS 450, 28 dHY 52| EXZAE

Co2 HiZS &8 20| gl= td LYo X] Zof A[A-YLICE

Ot H1 Hu & o
e o ua ret

E_
|m
nk!
| El
ri
~)

3
|0
Hu
Mo
o
AT
rlo

) r
02 >t > Mo

r
I

O > o rir >

!

»H
u

OZ |m [0t |0

<
e I o
— 10 =2 40 YhI
SCoxo
Q M0 gkl ¥
mo o |Hrlo
jor O
Ot

e Tl rr r2

M4 OE! |1 Hu
rMoro
=

Ot
o 2
=
[y
02l
Ras
d
-
mn
E rr

Ras

A
rir
o2
Ot
|m
[}
[H

0
0

_'H;ﬁ
X rr

=
T
o

SozoXqupRMdrrione of
Fl'F
oy
jo
o
0
Ras

0f0 O 4 210 o Hu

0
0
ot
=
W

o
rir
ox
o
Ot o
|m
oE of
I=
L]
I
[
=]
|
o

ox
=

r
Im
k!
Kl

[E 1™
rr J'C')'
1
mo
Jp

gl
ot
il

gl
ot

m

e

10

I
Of
|m
oY - O = 2
Y1
i

o
>
m O

HiES M = ASK = Z2X[T,
I RECtEtE 2371 ALY
I

-m oE
A
N

IH K oF
ikl

LN m

mn
N
oC
kU
| >
|m
mjn
A
)
ot
>
$0
N
Mo
Ko
Rl
=t
1
|0
HU
Il

nj 2

m >

1>
0= =
oy

F

rro
(m
S M-

oe
I=
1o

o
Hir
o
rr
Pl
o

|2t= AO|EE o & =3

=
1
rrre

>
lo
C
g
O

Heko| 7

o o

ra >z OF Rl |1 b of
fJ
o
Ol
e}

g -0 |m
o >l

2 >rmxne

=0

off X8

23 & 9lof M|

S5 BiCt

holM =8, Mejsgo| o3
Cf. Q2|02 MEBAE 3

== ®MEstD ULt

'2 Z0[ARH0] 2ldAAES

o ot
IE! ofn ol
2o
Z
o
AN
rlo
i
>

_I

>

O OF \J
2
mn
=)

[

ﬁO_I__l_
1o
o0&
f FM
Frg
i o
ro jx ot U g
>

L

1°o
©°
r

o
I jo

M H o | i
il
rlo
|
or
GE
=

4

ofo U Hu
OF OF Y-
ra |
r

=2

MoloME on
kl
>

o=

o

m e Im

o

o 1w

o qr

o

10

i)

J

bl

ro Hmort yy

Ok iy
Rl [e)

e s

m 0

1

1
=0

+
s

U
~

1o
ki

b

I

>

2

220
>
o H1

A
B+ 1R
0z | >

o

m
oe
w | H
I
H¥mlo g
IR ~ 1O
12 g 1o
o 1ot
ﬂl|ﬂ]=o=|-
S e
Ay
nx
o
1o
Mo
oo
L ot T
o o

o
<2
i
Ral
ot
Mo
=) 5
Ot
rir
k1
1N
=2

N O o
0

)}EI

ue

e e

0§ % Of LtC}.
= ROtM =7|EX0| H 8 Ege & QUCf
= 0| Ar8otH sx2dH|o] 8= 2 &

olet &
S 7 A5H7| =20

O

0z rlo
m
oE!

El

>

N
o

=

O
\J
-

S= AZO| 2O 7Y
=g 2H|E 0|8510] #of
UL = ZEXH YA = &7

% olct.

b

= o] =
HHE S ALESH| 20 dMEeE REE

rEI

rin

oz}
=
Of

_,_
1o



okl

ok!

M

Air Source heat Pump

Water Source heat Pump

e
Solar Source heat Pump |
Ground Source heat Pump |
=4 EHP|(Electric Heat Pumyp) |
GHP(Gas Engine Driven Geat Pump)
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